r—t— —r . N [ =
T DILTE - RBERFEEN] HIEEEE
SH3FE1RH
I #% (fM2F1~12A)
1 LR L) ORERE (BER)
(1) MBSHELH (HH)
2 MR Z W
SH2%E1~128 BTERAAL 1#HE (%) | §H2E1~128 |#iERLLL| BEHEE(%)
2 o 39, 900 -10, 056 -20. 1 851 -251 -22.8
(2) ERLEORERR (HH)
B MR gl ]
SM2E1~124 BIEREHALY 1R (%) | §F2F1~128 |FiERSL| EiFHE(%)
BAZ 2,648 -1, 345 =-33.7 67 -43 -39. 1
(>BEEHRBAR) 1, 388 -567 -29.0 31 -13 -29.5
BENEE 500 -181 -26. 6 3 -1 -70.0
1§ 98 -16 -14.0 4 +4 -
el WAC & 559 -19 -3.3 4 +0 +0.0
BEESR 1,293 -2,916 -28.6 159 -45 -22.1
BBmi 5L 1,179 -136 -10.3 22 -2 -8.3
HERS\ 1, 829 -533 -22.6 36 -11 -23. 4
4858 331 -81 -19.7 5 +3 +150.0
1STRSERR 5 -6 -54.5
hA5lE 5, 620 =121 -11.5 110 -19 -14.7
& &t 20, 057 -5, 954 -22.9 415 -126 -23.3
<ERLEREHHOBEHELE (1~120) >
+220
+200 |
+180
+160
+140 —
+120 —
g =
+60 +—|  EF — —
+40 +— 1 —
28 ] = e Iz | o |
‘ (3bEE ) ) A sig } .
BAE ij‘i{)%)\ BHENEE SRR = BEREX | HRARoL | EEsL | HI05E LE37 3 BElE
OSHxTE 110 44 10 0 4 204 24 47 11 129
BEM2F 67 31 3 4 4 159 22 36 5 110
2 EER (ANBEH ORLERR HHR)
SH25E1~128 BIERIAAEY B E (%)
% T 3 +2 +200.0
B 5 19 -6 -24.0
B S 500 -194 -28.0
2 522 -198 -27.5




I HETRIOLFERERR (FFI2F18A~12H)

SHLERILSE

Y & | % |memm &5t " s BEEE|f-vrz| gEEssansn|Ernsn| FE1=| x| HI0TE S
BHT 311 -14 8 3 1 1 1 2 1
iA=L 3 +1 0
il ey BT 2 -1 1 1
=Ly 11 +4 9 1 1 1 1 6
FIEREM 1 -3 0
JEEET 3 = 1 1 1
R HT 45|  -26| 26 1 9 1 15
S ZRHT 22 -2 11 3 3 6 1 1
5 thET 28 +5 8 2 1 3 2 1
=] 511 18] 29 4 1 1 1 16 1
E3EL) 13] -26 5 1 1 2 1
FHUILET 2 -6 1 1
b1 13] -16 4 1 1 2 1
F+ X HT 4 -1 3 3
7 EHET 17 -4 11 3 2 4 1 2 1
FrEAET 9 +4 2 1 1
SRERHT 5 -5 4 1 3
76 Il AT BT 1 -1 0
BBl BT 5 +3 3 1 1 1 1
Il ERET 3 -2 1 1 1
At 1Ly BT 1 -3 1 1
= AR HT 0] =0 0
KT 2 -1 1 1
LI 5 BT 1 -1 1 1
E&HT 4 -2 2 1 1 1
EEHT 19 -4 9 1 6 1 1
R IEHT 6 -1 2 2
FRBRHT 2 ) 2 1 1
BR A& AN ET 3 -5 3 1 1 1
BRFNET 6 -5 6 1 1 5
K EHHT 21 +1 13 3 1 1 8
i BT 13 = 5 3 1 1
iEFN) 30 +1| 20 1 16 2 1
=) 6 -9 2 2 1
FHAEET 5 -3 1 1
RILHET 1 +1 0
1€/ RHET 5 +3 1 1
INZET 3 ) 1 1
SRET 4 -3 1 1 1
B ot BT 17 +H4) 13 1 8 1 8
FaHT 6] =0 2 2
R AT 36 -2 19 1 1 11 1 2 3 1
18 | LI BT 28] -15 6 1 3 2
EE=L) 13 +4 8 8 2 3
AT 4 -6 1 1
A LLET 9 +2 1 1 1 2 8 1
s ErET 0 -2 0
F w7 10 -2 5 3 1 1 1
ZARKHET 6 -2 3 1 2
EE Ly 16 -6 8 1 4 2 1
HRET 10 -1 3 1 1 2
ZARARHFET] 11 +0 6 2 2 2




o]
df

SEEALE
TR BRI gt @Ak s | s i s messo|sresn| FE1E | B | 15 |nrmn
=mzwmm| 22| 7| 16| 2 Ti 3
ZAREAR| 14 +3 4 1 1 2
= ARRAT 8 +2 6 1 1 1 3
=mzmme| 18] -3 10 5| | 4
AT 2] -1l 12| 3 2| i 3] 2 2
L 6| 5| 3| i i i
FHaT ) I Y A i
msl | 40| +10| 23| 2| i 2] 1| 2| 6
ST 5| +2] i
FIRET 5| =0 10| 5| 2 | 4
CL 5| +| 0
AT il 2 8 2| i i
iR 2| 10| i i
moAm | 4 -4 0
LG 2| -3 o
MEE 2| 2| o
H o 2| i i
BSHET 55| 28] 38| 3 i4 2| 19
AT 7 S I
e | 13| 7| 3| i i
NI o 5| 4| 2| i 1]
5587 7 ]
% 42T of xof o
AT i =0l o
B |1 4 3 3

XifEt £ R ORFEFIRLGHEENHYET .

EEEZDIELTOET!
BEEEFCRTY !

XEVGE, BT HFEMIEL LD/
HEBICIZIEERELFEL LD,

R TIE, SEICAST12AKXKETICHEEEN 1594
HELTWET, HIGISHEIZEDZEEZEINTHEENTEELS
[CLEL LS,

KU BEEETT, RENLBWESIZZEOAY I ZD0ETE LS
[ZLFEL & D,

BERHERFILETT, —AVEYDLHILER LS D, BEHEH
-0 DREET B ENKRYITY, BEEIIVTHILERLE
L&,




-

OfiLEbtEEr REHRATELXE2R (BFF 71—-2219 FA4VIL1Y)

m =
I HRIZEERASEROORESY (FH2F1A~12A)
U REER U A :

BT 4 B ¥ |sERs = 56 | 55 HT % B # [eremgy A =
ET) 19 -9 19| |BodEr 3 -2 3
1 EET 3] =0 3| |mfr 4 -1 4
A B AT 7 -2 IS 26| 14 26
R R T 12 +4 11| [mwer 24| 14 24
TR 1] =0 1| [=&\e 8 -4 8
EEET 0 -5 AT 5 -5 5
FRET 22 -5 22| |KulidEr 4 -4 4
4 AHT 7] =+0 16| | 3 +1 3
& T 8 -5 8| |Edmdr 13] -1 12
{EET 1] -18 11| |[z=&xer 9 +7 9
GEL) 12 -19 11| [xmEer 1 -9 1
FARLLAT 3 +2 3| |igEr 2 -7 2
St SHET 10 -5 10|  [=&Awmer 3] =0 3
Ft KET 0 -1 =ARIBAT 7 -8 7
¥ ERHT ] -12 Jj =ARIAET 8 +1 8
FAET 0 -1 = AR R 3 -4 3
SETET 1 -1 1| [zazmmer 5]  =xo0 5
7 3 T AT of =0 & AT 31| -19 28
B A AT of =o0f EEH 12 -3 11
BISEBET 2l =0 2| |FRtalT 11 +0 11
A L5 71 =0 I e 7 -2 7
B AR 2 +1 2| |\ 4]  +0 4
X IR 1 -3 1| [moseEr 21 +1 20
L1 By 0 -1 AZRTAT 6 -3 5
T 3 -3 3| |sumdr 7 +1 7
SRR 6] =0 6| |iRusET 10 -4 9
AT 4 +2 4| |His AR 12 -3 11
SHAAAT 2 -2 2| |sBwEr 2 -4 2
B34 ARHT 1 -3 1| [nser 2 +2 2
REFOAT 6 +4 5| |#tEdr 2 +2 2
KA 6 +2 6| |hstdEr 30 +1 26
AR 8 -6 L 3 +3 2
S AHT 8 -5 8|  |sEANIET 1 -1 1
& R AT 4 -2 41 |ueEr 11 -1 11
ABAERT 4 +2 4 |BEE 1 -2
FKILET 0 -5 & 4EHT 0f =0
£/ ARHT 2 -3 2| |AFHEr 1 +0 1
/MR 5 +4 5| |gEstdr 15 +b 13
$RET 1 -2 1

V—MRIVEOFYSLILEFE— FERD
KEEIZDOWVWTEELE S S
I—kRILk FEONERE REERD




